T SSE 49

SECOND YEAR HIGHER SECONDARY SECOND TERMINAL
EVALUATION, DECEMBER 2018
Part — 111
ACCOUNTANCY WITH ANALYSIS OF FINANCIAL STATEMENTS

Maximum : 80 Scores

Time : 2% Hours
Cool-off Time : 15 Minutes

General Instructions to Candidates : \

* There is a ‘Cool off time’ of 15 minutes in addition to the writing time of 2'2 hrs.

= You are not allowed to write your answers nor to discuss anything with others during
the ‘cool off time’.

Lse the ‘Cool off time'to get familiar with questions and to plan your answers.

Read questions carefully before answering. .

All guestions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from the same
guestion itself.

« Calculations, figures and graphs should be shown in the answer sheet itself.
* Malayalam version of the questions is also provided.
* Give equations wherever necessary.

* Electronic devices except non programmable calculators are not allowed in the
Examination Hall.
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PART - A
ACCOUNTING (40 Score)

Score Score
I. Answer all questions from 1 to 5. L 1o 5 aecwss agep eanegmibens
Each carries one score. (5x1=5) oomeeawme. 1 sapod aflme.  (5x1=5)

1. Which one of the following is
not prepared by a not-for-profit
organisation ?

a) Income and Expenditure a/c b) e10@ — may @esevens
b) Profit and Loss a/c C) alemo mledlenm-madad
@REEVENE

d) ensoaidm axfigy

1. eneea0wfgHEm quodaimo ®mEono
BT R ?
a) Qs - ealeial @esvens

¢) Receipts and Payments a/c
d) Balance Sheet

2. Intheabsence of relevant provision 2. amoglam #0001@ aijaimo

in Partnership Deed, partners are @u%agésgmﬂmngmgwﬂmgo mae,ogl
= BB LIElSNIM EIBOOWRRMD

eligible to get Q@ ?

a) Interest on loan a) WS aleflv

b) mewmerlef aelw

C) MIKo/Boxflaumd

b) Interest on capital
¢) Salary or commission

d) All of these d) saewgioo
3. When unrecorded creditors 3. 80 amoglom quadalmevlen
brought into books at the time of SR haan

oy \ COEUOAS,AMIMBS 6)(@leqflom
reconstitution of a firm, it results in S6MS6TlORISIOB AId® anslo

a) Profit ag)0w ?
b) Loss 3 o
¢) Gain B
d) Income d) cummomoe

4. At the time of admission of a 4. @@ IBI81LIOS (aleIdM

partner, goodwill already exists
in books should be written off by
debiting Account.

Mo myesiad aflaindgpom vl
alldd ayss edlaoeaemiod ewenid
6.218QJ6N2 @BV aR® ?
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Score . o AR Score
5. A, B and C are partners sharing o Q) T, CUIGEXIVIEH &6 | MIVREIOTY
profits in the ratio of 2:2:1 ‘B’ aomanslad enfimfimqy . e:ogegoer

‘m)' afledleniemiont amoges
@0and) ‘ag)' @io ‘M) @0 myel @O
al@logsienmy. ‘M’ ag)m almog
ayes allodlenelm) sraumes a el
2108 @MAIOmo aR@ ?

IL 6 qoad 12 cuenmgs aasaysmmsiod agemelego

retired from business and his share
was purchased equally by A and C.
Then, the new profit sharing ratio
will be

I1. Answer any 6 questions from 6 to 12.

Each carries 2 score. (6%2=12) 6 agepEmia’ pomeaawme. 2 arpad alme.
(6x2=12)

6. Show the amount of Tournament 6. aqOdLY genlen mioeslal@emid

Fund in the Balance Sheet of a SBMOA a0etd OO SIEMMA
sports club- 06T,
Tournament fund at the beginning daxoroe sdemeand asens' 20,000
of the year Rs. 20,000, Donations ®lad, SdeMeOA ocoaIm eIElg)®)
for tournament Rs. 80,000, 80,000 myal, sidemead .018108:00
Tournament expenses Rs. 75,000 75,000 @yau.

7. State the average period considered 7. ®oeY alOmMIF 88 MOaN.2I0)
for calculating the interest on eoBEl@ almogldtd alldaialeanm
Drawings of partners in the @S alefltd BemendHaM©
following cases : M LR E0eigal agmewm

i e 0g)P1D)Bs.
a) Fixed amount is withdrawn at ). ol T 60009 DDV
the end of each quarter.
; e efwle @rAIMOMe aflddellansme.
b) Fixed amount is withdrawn at b) aflumlier myes Boa00 maETladhwe
the beginning of each month. DA alddaeleamy,

8. State the two major rights obtained 8. apolle aim:oglsas modaimensad
by a new partner at the time of his afomye eidlenm (Iwomenls mene
admission to the firm. @OOUBOUETRUD afO®EJo0 ?

9. A and B are equal partners in a 9. ag), ol agilaud ayely aleogegow

firm, they decided to admit C as
a new partner for 1/3 share of
profits. He brought in Rs. 50,000
as capital and not in a position to
contribute his share of goodwill in
cash. Firm’s goodwill is valued at
Rs. 60,000, Pass necessary journal
entries on admission of the new
partner.

enflonfionqaflad ‘S’ agym ai@il@ alessogl
o® 1/3 e afladimo mde0amm
o pdeasyEmymy ‘M’
ageiwmasafl 50,000 @l 6:06n8)
UMy, Wb 8oandl alemadw
OH06NMBIBIBT) TV0N.2I0 @D, 6nll
mfimmileo@ i@ 8dandl allel
60,000 ojaioe mlvzueiadess
AR alE0gles (alearmAapmow
MOl CRAIMM ag)Md(Sletd

GBI,
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Score

10. Suma and Sulu are partners in a

11.

12.

firm sharing profits and losses in
the ratio 2:1. They admitted ‘Sona’
into the partnership and decided to
give him 1/3"share of the future
profits. Find the new profit sharing
ratio of the partners.

List out any four items to be
credited to that capital account of
a retiring partner.

A, B and C are equal partners, ‘B’
retires and on that date the Balance
Sheet shows a debit balance of
Rs. 30,000 in Profit and Loss a/c.

Give the journal entry for its -

adjustment.

III. Answer any 2 questions from 13 to 15.

Each carries 3 scores.

13.

14,

Arun and Babu are partners in a
firm. Their capitals as on 1/4/2017
were Rs. 60,000 and Rs. 40,000
respectively. The partnership deed
provides for interest on capital
of 10% per annum. Pass journal
entries for adjusting the interest
on capital in the books of the firm
on 31/3/2018.

A business has earned average
profits of Rs. 20,000 during the
last few years. The normal rate
of return of firms in the same
line business is 10%. The value
of net assets of the business is
Rs. 1,64,000. Calculate the value
of goodwill of the firm under
capitalization method.

(2x3=6)

LT

Score

10. avze, ey agnflcaud 2:1 eo @omy

11.

12.

alO®ET @ al8:0gle:80@ enflay]
nqdlad 1/3 enealadime mae:onnmm
ajaimoald emommew apoe
als0gl@owfl mM@alenmy. wmsos)
WIOS (LGN BURAUMES aloflw
108 @RMaIdMo Bx68)nISH6))s:.

alledlenm aimodlwies ayeiwm
@RS VEMNEIDR 6Bl 6).016Qens moel
EDMETBURD ag)Li®)bs.

ag), enfl, Ml agomilaud ayely enflond)
M@ aldoglegoem . ‘enll’ afled
#OIOM  MAREW oM’ adfid]
BJ8s 210E-Mayd &emasfion aweni
g swoai@av’ 30,000 epai@oem.
Doo@ Mlenicaloss erdemd

ag)MR(S! ag) s,

IIL. 13 oyoad 15 cueow)gg 62106 amgldd
age@sleyo 2 ag)eRamlo 9OmEOR)®)®:.

3 eapod aflmo.
13.

14.

@D, enioeny agymilaud endlonSionqny
als0gleg06m. 1/4/2017 e enau

mes qaiwm ey 60,000, 40,000
ag)m (@aewmleoem’. aimog)om
@eociad 10% oflossiad ayeiwm aello
Mm@ atowymyend. 31/3/2018
Y88 Qgeicm aeflvo@y@owi enimw e g
edem®d ag)DSeRD ag)9)aye:.

&} edlmfiioqflod eFlemm ooy
QdatesBglas roowd eioso 20,000
®aIWOEM. EDE® Galoryss ag enflmi)
M@ MO2AIMETBRBHE EIOWEDOW
a0 mless” 10% ooem”. o7
enflofimaqyflont e azelio 1,64,000
Dol @I6M”. @EIW M ® H6 ©®6m
Al myuwald ael Jodldehao
6).2I1QYd.
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Score

15. A, B and C are partners sharing

profits and losses in the ratio
of 2:1:1 respectively. ‘A’ retires
from the firm on 1% April 2017.
On retirement, his capital
account shows a credit balance
of Rs. 95,000 after the necessary
adjustments made. Give journal
entries, if

a) The amount due is paid off

immediately.

b) When the amount due is not
paid immediately.

¢) Rs. 35,000 is paid and the
balance in future.

Score

15. ag), enfl, m) agomlaud 2:1:1

@M OH @ al®:08]HS06m.
ag@lafiad 1, 2017 o ‘ag)’ agom
almogl enlalmqyl@d mlimmyo
alealenim). &Y Moo
@QIYIOS DBIWM @0 H6D 6N @
af))o Mle6)EaI0seBRBHN0 GUdaHo
95,000 oy clesfioidla] penzow
M. (IPI® @B ©BOS, O
aflgm Ay Moan.2i0\eBglos
edeMAd ag)M(SIUD ag)Fi®)d:.
a) @ aldemaowio psmsl
@30,
b) @ aflomils madaesom @ileymond]
BN,

¢) 35,000 @yt @oi@o smsiwio
60869 aflariisio n@dRMy.

IV. Answer the question 16 which carries
4 scores. (1x4=4)

IV. 16 -90 €.0106)@wM 9EOMEORPID)E.
4 ampod. (1x4=4)

16. Amal and Biju are partners in 16. @no@, emNm) agoricud 2:1 ende

a firm in the ratio of 2:1. They
admitted Cijo and the new profit
sharing ratio is agreed as 3:2:1.
At that time goodwill of the firm

is valued at Rs. 1,20,000.

a) Calculate the sacrificing ratio of
the old partners.

b) Calculate the share of goodwill
to be brought in by Cijo on his
admission.

c) Pass the journal entry for
sharing the amount of goodwill
among the sacrificing partners.

@omalomeEwiicd enflaiimqy el
S:g06m. MeRO® oGl aldg]
@owfl 9RO SEBIREIM eUvauaes

2108 @mMalomo 3:2:1 @oem. g0

MORETSS ruNtamneiexBuuaiad

meyo 1,20,000 @yaswoen.

a) 9@ alBOElBROS ®PU @M
alomo B6m3)afSlHe)ss.

b) milezmo ee:06neIBRENE KWANED
89a00lOS @ ag)® ?

C) alem@OW] ©)e&:06N8) QUM YW
aldd e ®§0nalE0sleRHe
m@eymaimes cedemdd gl
g)$1D)Bs.
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Score
V. Answer the question 17 which carries
S scores. (1x5=5)

17. A, B and C are partners in a firm
‘B’ died on 1% April 2014. On the
date of his death, after making
all adjustments, Rs. 80,000 were
due to him from the firm. It was
agreed with the executors that the
payment will be done in ‘4’ equal
yearly instalments together with
interest @10% p.a. on the unpaid
balance. Prepare the Executor’s
Loan Account for these four
years.

VI. Answer any one question from 18 and

19, carries 8 scores. (1x8=8)

18. Sanju and Manju are partners.
They share profits and losses in
the ratio of 3:2. Their financial
position as on 31 March 2018 is

as follows :

Assets (@pmjle:wd) Rs.
Cash 5,000
(854008)
Debtors 60,000
(®wenleg¥my)
Stock 30,000
(eqo06))
Machinery 35,000
(o@athionc)
Buildings 1,00,000
(enNidBauSlowdary)

2,30,000

Scor
V. 17-2 calayonio gomeen ).

S aapod. (I1x5=

17. ag), enfl, ®fl ag)orilcud snfimflmaqy
al0glleaoem. agofldd 1, 2014 o
‘nll’ deemegs). acem aloalaid,
@ROURIDOW (] BOEAIOBO DB
ewado 80,000 oyt @O@OBHE"
quodalm@Bfl@d aflomyo madesomyens:
DV @ Mmoa” miely aodadle
®UMB:00, (flesl]l eniossl oyl
10% mlos@® welw madl®mo
@@z MEBL:00D @MAD @OCLBIUS
SD0W WOREM@IBMMY. (aIP®
moey QdauemBEloel af) gl esy
BLI06TD @OHOVENE MQYOIOIBE)H>.

VI. 18,19 canajsmgla amlm; ao@o some
oav)m)s. 8 capod. (1x8=8
18. quemy, memyy agamilcud 3:2 ene
@OMLAIIB@TIM aigs08lle80m enflmd]
oqflend 31/3/2018 el cvomueiie
cudlall maey madeslaidlenomy.

Liabilities (euowymaid) Rs.

Creditors 50,000

(Bulleggay)
Bills payable 20,000
(el ©as@enficd)

General Reserve
(=moad dlvday))

Capitals :

(@ 0afig@ms)
Sanju
(erveray)
Manju
(a6my)

40,000

80,000

40,000  1,20,000

2,30,000
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Score

On 1% April 2018, they agreed to
admit Ranjith into the firm for
1/5" share of future profits on the

following terms :

a) Building is revalued at

Rs. 1,10,000
b) Stock is revalued at Rs. 25,000

¢) Provision for bad debts is

made at 5% of debtors’

d) Ranjith bring in Capital of
Rs. 50,000 and goodwill
premium Rs. 40,000.
Prepare Revaluation account,

Capital Accounts and Balance

Sheet of the reconstituted firm.

19. Sunny, Raju and Babu are

partners in a hotel business, Babu
decided to retire from the firm, as
he got appointment as a college
lecturer. Explain to them the
major accounting adjustments
that may required at the time of

Babu’s retirement.

Score
2018 agyadidd 1 of ceedloflom 1/5
ae aflmo mme@:) ayoilo mmi
QY aleogdl@ofl, ®meY alowym
QQUMOBER06S, HUWEQSEDTRM.
a) enfdaulowinimes oo
aflel 1,10,000 oaiwoen

b) sgyoeslon aym@sio alle
25,000 e)aioeny

C) Mor@IME esefilmowss O
®@eal, savemieqfio 5% aodl
eQUREMo

d) eeedon) 50,000 o @LILMAOW)o
nywall@ oyswoe] 40,000
IR0 EB06NB) UBEMO
alj@l@ alBoglees (aeaum
MA@ enITWeals aymdayely
wldep® @oenvenE, aieiwm
@OBHVENMB B, a el eniodss)

al(@o ag)mMilal Q000H6)®:.

19. memlwo oomyni0 MIOeNIIQY0

a00ga enflnfinmi@d aies:oedlexgoe:
B-0E8RW 0alHMOW azgoell aid.g)
eroeny snfimfimqfiad aflemo o fladad
Ao aloymomi.oy. entoenyaflend
AUledlentd mamen @i e
QUM (adWOom @ enVenglowy”
@easgmRead@:ea66m0).2] ald

Br(Ble6) e
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PART - B
ANALYSIS OF FINANCIAL STATEMENTS (40 Score)
Score Scor
VIL. Answer all questions from1 to 5. Each | VII. 120 5 alecmgg aggp eanaymiden
carries one score. (5%x1=5) gomoea . 1 eapod allme.  (5x1=E
1. Complete the series L. atomio apdociloosee.
a) Equity shares — Dividend 2) (UaW0Re E0aOBE —£x@ Aflaciia

b) Debentures - ?

« The s{atement which shows
financial position of a company at
the end of an accounting period is

. Name any one item shown
under the heading ‘Reserves and
Surplus’ in the Balance Sheet of
a Company.

. Financial analysis is used by
a) Management

b) Financial advisers

¢) Security analysts

d) All of these

is a tool of financial
analysis.

a) Common size statement
b) Trial Balance
c) Balance Sheet

d) Income Statement

b) &sq@memd - ?

. 80} ssmuddlees dlualo eren

nglowd Soaiaallen momImTile:

udlafl @oenfleanm coal a@ ?

. SmUadl enuoaidm’ adfidlad Alrvda)

&adolm’ ag)m B au e oo @
DRSO B} HMENOR Gald
ag) YD) bs.

. womiemle afltnee mnomleq

UYEMBBIBMOLHUD @D ?

a) moemeead

b) momiEnile: Haleauodsd
C) e dld) @mafigue.d

d) spauego

. oMIAS allsamariim’ 9al

WIUIlBEM Palouwsl e ?

a) e8:006nd HOVMY BERRIOAE
b) sw® eruoaidm

) enuoalndmy afi

d) deo sgumend

SSE 49 Accountancy with Analysis of Financial Statements 8/11



LETREH T
Score
VIIL. Answer any 6 questions from 6 to 12.
Each carries 2 scores. (6x2=12)

6. State any four purposes for which
the credit balance of securities
premium account can be utilised
by a company.

7. Karunya Ltd. Redeemed 10,000,
10% debentures of Rs. 100 each
at par, which were issued at par.
Pass journal entries for the issue

and redemption of debentures.

8. Name the sub-headings in which
the following items appears in the
Balance Sheet of a company
a) Loose tools

b) Unpaid dividend

9. Listout the major headings on the
Equity and Liabilities side of the
Balance Sheet of a Company.

10. State the significance or importance
of Financial Analysis to

a) Management
b) Creditors

11. State any two limitation of
Financial Statement Analysis.

12. Financial analysis is undertaken by
different parties outside the firm . List

out any four such outside parties.

Score

VIIL 6 qyocd 12 cueow)gg eolosyemgla
agemslelo 6 agepaniia’ pomeeay)m)e:.

2 ampod allane.
60

10.

11.

12.

(6x2=12)

oM AH (aflal@e myes @mia
e allmlewouslencm e¥iwym
MoeS @ROUMETBUD ag)P)m)d:.

B0my6my efldlgal’ 10,000, 10% s
o @emedd myeuaieiow 100 epigy
aljoeqysiallef, meiafeigy mem
afldl.gjsal msmmyomy.
BSa](®ETBARD aj0eqsialleanmail
OMWio, ®alaisal” msemym
@loR@io erdem@ ag)md (e
0g) D).

. m@qﬁﬂaqmww

nI0aIMM’ oAF@B aR® alwBlday
B603efl2106Mm OB |S)EmmENa@) ?

a) epm spdmY

b) oydigfle ene afladimo

BaUfl erudaidmy’ axflcflad entowymo
BINOW HWBOQSIEEMENS (alWOM
BldaDemd agome]oo ?

momianile QMo MIOY ald

@IMNAUBLE ag)FIBEM (AIGWORMEQS)
e AloER0B®:.

a) asemzend
b) ewalleqy

MIMIETIS: GRS Qllvddelm
arleng o6ng aldldlalle:d ag)omds.

MO EWIM’ all0ODRIEBAUDY0
momIETfle: GBS Afltadaimo
MSEMOIOY6ME". &) @) 0 O 1) 88
a@e®®leo MILl H:ddle:aiens cald

Qg)SLT)Hs.
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Score
IX. Answer any 3 questions from 13 to 16,
carries 3 score. (3%x3=9)

13. Aroma Ltd. purchased a building
worth Rs. 1,80,000 for which
equity shares Rs, 10 each issued
at a discount of 10%, Give the
journal entry for purchase of asset
and issue of shares.

14. Show the following items in the
Balance Sheet Sunflower Ltd. as
on 31-3-2018
General Reserve
(Since 31/03/2017) Rs. 8,00,000
Statement of Profit and Loss (Dr.)
for 2017-2018 Rs. 3,00,000

15. Explain the procedure for
calculating Trend Percentage.

16. From the following information,
prepare a Common Size Income
Statement, by showing the gross

profit :
Items Rs.
Net sales 25,00,000

Cost of goods sold  12,00,000

X. Answer the question 17 which carries
6 scores. (1x6=6)

17. Draw the format of statement of
Profit and Loss of a Company as
prescribed in Part IT of Schedule III

of the Companies Act, 2013

(EE A

Score
IX. 13 oo 16 cuonw)gs s.ai06 smgdd

age@®lalo 3 agEREMITT EMEORY IO
3 ampod allme. (3%3=9)

13. @mearoa efdigay 1,80,000 ya@yes
odglso Aoadoe aflaaoowl
smrles ssandad 10 o
myeufeid afiemze 10% Sivlald
mdeymy. ed:glsamd el
oo Boandle:d mglwafopu)e
aRdeM@ ag)MEled ag)Fimus:.

14. 31-3-2018-08 merqgrud sidigad
o0 eruoalmdm) adfifla? @moe? a0
EDMETBURD DU ISITTE:.
gmoad dlavdaq)

(31/03/2017 qymad)  Rs. 8,00,000
2017-2018 -6el 2108 Ma SEMES)

(powendi) Rs. 3,00,000

15. (ausmmo @omyalomenmdd afldep
QNeoymMameg msalisaam®d
Qi REDOHNE:.

16. mAIdlenm allwadcnemsgdd
Moo @RS EoEo &eMBETH, &0
3B:006M OOVMY D0 SIRAODF

®QYOOIBES:.

Items Rs.
@epafigiaieal — 25,00,000
aflg OWMETBRINS QU \Wo

- 12,00,000

X. 17-% eanayomin gomeeasime. 6 arpod.
(1x6=6)

17. emua) moac 2013 andg Il
oagawy® Il @ (aflasodienm
AN B £10@-May eSS OR
QVODIMMato BBIOOILNE:.
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Score Score
XI. Answer any one question from 18 and 19, | XI. 18, 19 canejmagla aarim; aomo gome
carries 8 scores. (1x8=8) o9 m)e. § aapod allmo. (1x8=8)
18. ecowo elalgaleqd 2015-16,
2016-17 ageml eens’ Qudae@®
all@aim-e.alaial alloieeamsdd @6

18. The Salesand expenses information
of Omega Ltd. for years 2015-16

and 2016-17 are given below : madeIdenymmy,
Items (s&omo) 2016-2017 2017-2018
Sales revenue 6,00,000 8,00,000
(@pgafigiaieal)
Cost of goods sold 3,00,000 6,00,000
(aflg muowmemges alywo)
Indirect Expenses 1,80,000 90,000
(aUcooss 621eI0lEWR)
Income Tax 30% 40%

19.

(cumymom arfleaail)

Prepare a Comparative Income
Statement to assess the profitability
of the company.

Kamal Ltd. has an authorised
capital of Rs. 50,00,000 divided
into equity shares of Rs. 100 each.
The company invited applications
for 40,000 shares, but received
applications for 36,000 shares.

All calls were made and duly
received except for 500 shares,
on which the final call of Rs. 20
was not received.

Show how share capital will
appear in the Balance Sheet of the
company. Also prepare ‘Notes to
Accounts’ of this item.

HMUM@OS L0ELHI®O® Afleiw]
oQEmMEIMIR] 8wy Bmideglal
D0 GERAIODMR BPJOOIBE)B:.

19. sadd eldgai, 100 o ageuales

IWIREM BOANBIBB OPBORISIM
50,00,000 opai@)es @0oUdldny®
mewmacemes®. oald 40,000
S0aNM1ED US| ©)aIom) RMETBURBLE)
aogomo ealgecuslele 36,000
80000 HRDEOI8S @Bl HU @I
2@l )@

80000 QYOS MIPIOUM @S0
SMIM @SRIM @YUM OS]
o3y, agymoad 500 eoandle:gies
@OOUTVIM G0 MBI 20 ol
aflmo afldlermmy SlGlaiglg).
SUflayes enioeidm adlgi@d aoaod
@)elWmMo ag)emBem 9RO #0088l
#OODMM B:I6MI 6. 0V PHM
enflod eMISM)’ [l @RSOVENS M0
BYOOILED>.
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